JIATIAN

PLANETARY REDUCER

AEZRFH TE/RIEN,

B IRER. BES, SRR IRES. BEK.

FsEREDNMEIEAE
F3%:021-64525832 021-64525833
F#1:13817843940 (H{zE=)

ot TR Tl

4L

B M:http://www.jtjsj.com/




JIATIANZH

B / AE RS /

A E SERIES
£

~

AER Y 17mEM

M BEYE R FUTURE

@ TREERME

@ BN A=t EECHIRAT R
® HfEiHB R4

® e 75 M [E M

O HiHMmEFENSHE

® BHHE

1.For any mounting position

2.Individual adaptation of the input flange to the motor
3.Lifetime lubrication for maintenance-free operation
4 Equidirectional rotation

5.Wide range of output shaft designs

6.Precise gearing



JIATIANZH

AERF 172 5Em

#14& Model B Unit T# Stage IRELL Ratio AEBO
| ” 3 20 50 " 140 310
4 35 Q0 240 605
1 5 32 70 240 605
T - 50 100 320
8 20 50 90 =300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 260 680
40 35 80 260 680
64 20 41 = B
AMES Y HiE N 60 35 60 260 450
Rated output torqueT2N B4 L4y 110 260 6880
80 44 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 44 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 1510 = =
280 - - 260 680
320 40 60 - -
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
21215 = .
Emergency stop torqueT .o Nm 12,3 3 -1000 ={ZEEY 4B | Triple rated output torque
MEHNE R
Rated input speed 1, - 120 =100 4000 4000 3000 3000
BRENER
Maximum input speed 1. 1232 3-1000 6000 6000 6000 4000
1 3-10 <12 <12 <12 <12
BEER .
Precision backlashP1 G g aﬂg—:l.ﬁ[::]ﬂ iE i: i: ii:
AR .
Torsional rigidity Nm/arcmin 1.2.3 3-1000 157 4.2 8.7 25.4
AFEEN
Allowable radial force F,.q M 1.2.3 3-1000 265 440 1240 3700
3us el
Allowable axial force F,.q M 1.2.3 3-1000 200 400 1000 3000
Ed=ET
Savica [ifs hrs 123 3-1000 20000
1 3-10 =07%
Eﬁ%iw % 2 9-64 >94%
3 60-1000 =91%
1 3-10 0.95 2.3 7.6 20
-] i ke 2 9-64 1.2 2.9 9.7 26
3 60-1000 15 3.6 11.3 32
(ERRE 5 B 2
Working temperature C 12,3 8-1000 -10°C~90°C
o P -
| ubricating 1,2,3 3-1000 S AiaiEHmES / Synthetic lubricating grease
PHiPELR
IP Grade 12,3 3-1000 IPE5
s YalC) L
Installation direction 12,3 5-1000 fER731@ / In any direction
IRE1H (n1=3000rpm, L% ) dB 1,2 3-1000 <62 <65 <65 <68

Noise level (n1=3000rpm,off load)




JIATIANZE®"

Hik¥% / AE R / aEEH

AERF 172 5Em

MBS EH 5 Straight Tooth with Moment of Inertia

HE Model Efi Unit T5#{ Stage IRELE Ratio AE060

| “ 3 0.135 0.77 | 2.63 | 12.14
4 0.093 0.52 1.79 7.78
5 0.078 0.45 1.53 6.07
' 7 - 0.40 1.32 4.63
8 0.065 0.39 1.32 4.63
10 0.065 0.39 1.32 4.63
9 0.131 0.74 2.62 12.14
12 0.127 0.72 2.62 12.37
15 0.077 0.71 2.62 12.35
16 0.088 0.50 2.62 7.47
20 0.075 0.44 2.53 6.65
; 25 0.075 0.44 1.50) 5.81
32 0.064 0.39 1.50 5.81
40 0.064 0.39 1.30 5.28
50 0.064 0.39 1.30 5.28
T pn 64 0.064 0.39 1.30 5.28
60 0.076 0.51 1812 7.50
B4 0.076 0.50 1.12 7.50
80 0.075 0.50 1112 7.50
100 0.075 0.44 1.50 7.40
120 0.064 0.70 1.50 7.30
125 0.064 0.65 1.50 7.20
160 0.064 0.39 1.30 6.50
200 0.064 0.32 1.30 6.20
: 250 - . 1.30 5.40
280 - - 1.30 5.70
320 0.064 0.39 1.30 5.40
350 - - 1.30 5.40
400 - - 1.30 5.20
500 - . 1.30 5.10

512 0.064 0.39 - -
1000 - - 1.30 4.90




JIATIANZH

B8 / AE RY / INES RS

AERF 172 5Em

AE-L1 4MEZE Profile

ey 5

e

ey

LS

7B

R 51

I\
S

D2 e

i

< DZhd

ey
Lz L1 o8
L3 ¢10
-
l,,-.
Lé LS < |
o
& _ 11N _8 e l
R R CRIC S
T
LS —1
|
L4
o
o4
E1h® [
= I OO0 T = ———— =
$hRs, s2 $hei, S3 i
L
4 D3hé |

£ L EABRENEIRYT, GARRTIRERBRBHIRTES

R~FZ size

R~
D1 52 70 100 145
D2 M5x(0.8P MBx1P M10x1.5P M12x1.75P
D3 14/16 20/22 25/32 40
D4 40 60 80 130
D5 17 25 40 60
D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
D7 10 15 20 35
D8 60 82 118 162
L1 13 12 18 23
L2 32 40 b4 86
L3 3 3 3 5
L4 28 36 50 80
LS 25 30 40 65
L6 2 3 5 T
L7 <24 <30 <52 <60
L8 12 16 25 35
Cl 70 90 145 200
Cc2 M&4x0.7P M5x0.8P M8x1.25P M12x1.75P
C3 <12/<16 <19/<24 <35 <42
C4 33 45 60 82
C5 50 70 110 114.3
C6 5 8 8 8
C7 60 85 128 178
C8 20 26 43 50
C9 112 140 193.5 252
C10 16 16 25 35
Bl o 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3




JIATIANZH

AERF 172 5Em
BiE2 / AE R / ANES R
AE-L2 4MZE Profile
.ﬁ' e L3 c10
f’f’ SR\ - i
&N 1y Bfte—adH i
\\ / - ]
B3 |
5% - -
{
Bik% |' I|I' o
/
\ Lﬁ% % ..... -%. Do
SHAIT, S1 LB At s2 Do $halTt 53 ,r-‘r
& D3hés & D3hé -

E: U EAEAENBIRYT, BARRITJREESRETIRTES

R~F3& size

R~
D1 52 70 100 145
D2 M5x0.8P MBx1P M10x1.5P M12x1.75P
D3 14/16 20/22 25/32 40
D4 40 60 80 130
D5 17 25 40 60
D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
D7 10 15 20 35
D8 60 82 118 162
L1 13 12 18 23
L2 32 40 54 86
L3 3 3 3 5
L4 28 36 50 80
L5 25 30 40 65
L6 2 3 5 Vi
L7 <24 <30 <52 <60
L8 12 16 25 35
Cl 70 90 145 145
Cc2 M&4x0.7P M5x0.8P M8x1.25P M8x1.25P
C3 <12/<16 <19/<24 <35 <35
C4 33 45 60 60
C5 50 70 110 110
C6 5 8 8 8
C7 60 85 128 128
C8 20 26 43 43
C9 129.5 159.5 2225 291
C10 16 16 25 25
Bl 0 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3




JIATIANZH

AEZR5 72 5
B / AE K5/ IMEERS
AE-L3 9MEZE Profile
o
L L1 c3
& - L3 ¢10
/ e .F---H-H'\ L6 | LS ;l':':l-'"_j ]
/‘ I L | - 1 I
e ) VLB e y 3
- / L
m..______, 2 — :
I-m e -
/
B1h9 Hf -
AN 7 !
LT, S D R, s2 [D¢) igeIE 3 .’f
B D3h 4 D3hos J
L?

£ L EABRENEIRYT, GARRTIRERBRBHIRTES

R~ size

R~
D1 52 70 100 145
D2 M5x(0.8P MBx1P M10x1.5P M12x1.75P
D3 14/16 20/22 25/32 40
D4 40 60 80 130
D5 17 25 40 60
D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
D7 10 15 20 35
D8 60 82 118 162
L1 13 12 18 23
L2 32 40 b4 86
L3 3 3 3 5
L4 28 36 50 80
LS 25 30 40 65
L6 2 3 5 T
L7 <24 <30 <52 <60
L8 12 16 25 35
Cl 70 90 145 145
Cc2 M&4x0.7P M5x0.8P M8x1.25P M8x1.25P
C3 <12/<16 <19/<24 <35 <35
C4 33 45 60 60
C5 50 70 110 110
C6 5 8 8 8
C7 60 85 128 128
C8 20 26 43 43
C9 147 179 251.5 391
C10 16 16 25 25
Bl o 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3




JIATIANZH

Bi53 / AER &% / #EA

‘ﬂ\lEEFq:SEREB

~

AERZRF 172 mEm

M BEYE R FUTURE

@ TREERME

@ BN A=t EECHIRAT R
® HfEiHB R4

® e 75 M [E M

O HiHMmEFENSHE

® BHHE

® EEIZHFIE

1.For any mounting position

2.Individual adaptation of the input flange to the motor
3.Lifetime lubrication for maintenance-free operation
4 Equidirectional rotation

5.Wide range of output shaft designs

6.Precise gearing

7. Transmission diversity



JIATIANZH

AERZRF 172 Em

B3 / AER 7%l / E8E2%K

AER Z %423 /| AER Series Performance Table

#4E Model B Unit T# Stage RiELL Ratio AERS60 AERS80 AER120 AER160
| ” 3 20 50 140 310
4 35 90 240 605
1 5 32 70 240 605
T - 50 100 320
8 20 50 90 300
10 15 35 30 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 260 680
40 35 80 260 680
64 20 41 = 5
aEH L e N 60 35 60 260 450
Rated output torqueT2N B4 L4y 110 260 6880
80 44 110 260 B&0
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 44 110 260 680
200 40 90 260 680
- 250 - - 260 B&0
256 44 110 = -
280 - - 260 680
320 40 60 - z
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
2=k = :
Emergency stop torqueT .o Nm 12,3 3 -1000 ={ZEEY 4B | Triple rated output torque
TERNER
Rated input speed 1, - 120 =100 4000 4000 3000 3000
R A ANEEIR
Maximum input speed 1. 12,3 3-1000 6000 6000 6000 4000
1 3-10 <15 <15 <15 <15
BEER :
Precision backlashP1 G g aﬂg—:l.ﬁtijﬂ i;g ig iz i;i
HERITE .
Torsional rigidity MNm/arcmin 1.2.3 3-1000 1L 4.2 8.7 25.4
BiFEm 7
Allowable radial force F,.q N 123 3-1000 265 440 1240 3700
BiFihm@h
Allowable axial force F,.q N 1,23 3-1000 200 400 1000 3000
ERE
Savica [ifs hrs 123 3-1000 20000
1 3-10 >04%
Eﬁ%iw % 2 9-64 >91%
3 60-1000 =89%
1 3-10 1.95 4,95 12.5 26.5
Gro 5%331 ght kg 2 9-64 2oh 9.55 a7 sy
3 60-1000 2.56 6.25 17.3 38.5
EHEE ” 9 .
Working temperature C 12,3 8-1000 -10°C~90°C
HE T : T
| ubricating 1,2,3 3-1000 S RiiEE SHER [ Synthetic lubricating grease
B iP<FLR
IP Grade 1.2.3 3-1000 IPE5
Z& L
Installation direction 12,3 5-1000 fER731@ / In any direction
2E18 (n1=3000rpm, EHAE )
Noise level (n1=3000rpm,off load) dg 1,2 Ly s62 <65 <65 <68




JIATIANZE®"

B3 / AER R%1) / 2K

AERZRF 172 Em

MBS EH 5 Straight Tooth with Moment of Inertia

A4S Model  E{i Unit T3 Stage /BLIELE Ratio AEROB0 AERO080 AER120 AER160
| “ 3 0.135 0.77 | 2.63 | 12.14
4 0.093 0.52 1.79 7.78
5 0.078 0.45 1853 6.07
: 7 - 0.40 1.32 4.63
8 0.065 0.39 1.32 4.63
10 0.065 0.39 1.32 4.63
9 0.131 0.74 2.62 12.14
12 0.127 0.72 2.62 12.37
15 0.077 0.71 2.62 12.35
16 0.088 0.50 2.62 7.47
20 0.075 0.44 2.53 6.65
; 25 0.075 0.44 1.50 5.81
32 0.064 0.39 1.50 5.81
40 0.064 0.39 1.30 5.28
50 0.064 0.39 1.30 5.28
— . 64 0.064 0.39 1.30 5.28
60 0.076 0.51 1512 7.50
64 0.076 0.50 1.12 7.50
80 0.075 0.50 ]2 7.50
100 0.075 0.44 1.50 7.40
120 0.064 0.70 1.50 7.30
126 0.064 0.65 1.50 7.20
160 0.064 0.39 1.30 6.50
200 0.064 0.39 1.30 6.20
: 250 - - 1.30 5.40
280 - - 1.30 5.70
320 0.064 0.39 1.30 5.40
350 - - 1.30 5.40
400 = = 1.30 5.20
500 - - 1.30 5.10
512 0.064 0.39 - -
1000 - - 1.30 4.90




JIATIANZE®"

HiS3S / AER &% / ANES R~

AERZRF 172 Em

AER-L1 4MEE Profile

% 13
" < N = |
== |
& o) L& L
‘,.f ; i N
_J | % 8 ____g@.____l_.__._.__._
| fi |
- | s | 5
R > |
| s
- i
3 - R
Lbobd JUIT 2 ’3‘
E e e T a
BCAT
POIGS
/
Gih% .F'
I L
= R E — —— L
$hadst, s dhsd+, s2 0S| i, s3 B
4 %hé |
L7

F: D EARERBENBENREY, GEARERIREBEREBNETES
R~Z size

R~

AER120

AER160

D1 52 70 100 145
D2 M5x0.8P MBx1P M10x1.5P M12x1.75P
D3 14/16 20/22 2532 40
D4 40 60 80 130
D5 17 25 40 60
D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
D7 10 15 20 35
D8 60 82 118 162
L1 13 12 18 23
L2 32 40 54 86
L3 3 3 3 5
L4 28 36 50 80
LS 25 30 40 65
L6 2 3 5 Fi
L7 <24 <30 <52 <60
L8 12 16 25 35
Cl 70 90 145 200
C2 M4x0.7P M5x0.8P MB8x1.25P M12x1.75P
C3 <12/<16 <19/<24 <35 <42
C4 33 45 60 82
C5 50 70 110 114.3
Ce 5 8 8 8
C7 60 85 128 178
C8 20 26 43 50
C9 143.3 181 253 352.5
C10 16 16 25 35
Cl1 95.5 IS 183 263
Bl o 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17755 22.8 38.3




JIATIANZE®"

AERZR I 172 s
B3 / AER 251 / AMNES RS
AER-L2 4MEZ[E Profile
¢ % = |
F-‘HH' Lé L5 l
[ l‘%) HH g 8 @ _§L_@|____|L__ ~
N2 = | 5
= ) -
O 5
E
/
| Gihe J,r'f .
o = o
st 51 s, 52 \Ds| fhatt, 53 I:{ If’I
Dhé ]

E: LEABRBENENRYT, GARRIIJRBEABHINRTES

R~ size

R~

AZERG0

AZERS80

AZER120

AZER160

D1 52 70 100 145
D2 M5x0.8P MBx1P M10x1.5P M12x1.75P
D3 14/16 20/22 25/32 40
D4 40 60 80 130
D5 17 25 40 60
D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
D7 10 15 20 35
D8 60 82 118 162
L1 13 12 18 23
L2 32 40 54 86
L3 3 3 3 5
L4 28 36 50 80
L5 25 30 40 65
L6 2 3 5 Fi
L7 <24 <30 <52 <60
L8 12 16 25 35
Cl 70 90 145 145
C2 M4x0.7P M5x0.8P MB8x1.25P M8x1.25P
C3 <12/<16 <19/<24 <35 <35
C4 33 45 60 60
C5 50 70 110 110
C6 5 8 8 8
C7 60 85 128 128
C8 20 26 43 43
C9 168.6 200.5 285 399.5
C10 16 16 25 35
Cl1 95.5 1l2hills 183 260.5
Bl o 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3




JIATIANZE®"

HiS3S / AER &% / ANES R~

AERZRF 172 Em

AER-L3 4MEZE Profile

L2 L1
L3
|
|
L& L3
& & \
gz - ——1-Y-
| i | I =
Ld E b |
i
3 mEEmr
L _J'__I"'..L = 8
2 e s o P &
sy
OGS
/
Gih? f
[ j B2k

thalst ¢1 E v, 52 fatw, 52

pO3hé pDhé |

Iit
i
I fé@—r
i
|
|
_-‘--""-._____.
I"-.
k2

L7

E: UEABRENBIRY, GARRIITRBREFEBIRTE

R~ % size

AZERSO AZER120 AZER160

R~ AZERG0

D1 52 70 100 145
D2 M5x0.8P MBx1P M10x1.5P M12x1.75P
D3 14/16 20/22 2532 40
D4 40 60 80 130
D5 17 25 40 60
D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
D7 10 15 20 35
D8 60 82 118 162
L1 13 12 18 23
L2 32 40 54 86
L3 3 3 3 5
L4 28 36 50 80
LS 25 30 40 65
L6 2 3 5 Fi
L7 <24 <30 <52 <60
L8 12 16 25 35
Cl 70 90 145 145
C2 M4x0.7P M5x0.8P MB8x1.25P M8x1.25P
C3 <12/<16 <19/<24 <35 <35
C4 33 45 60 60
C5 50 70 110 110
Ce 5 8 8 8
C7 60 85 128 128
C8 20 26 43 43
C9 178.3 240 317 408.7
C10 16 16 25 35
Cl1 95.5 IS 183 260.5
Bl o 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17755 22.8 38.3




JIATIANZH

4. B ERB R

5. nEFF SRR AR/ NTF AL BRI EREE,
AR SRS M DS ER R SRR AT 5.

Bl4 EHYlEEXE

4 FFERGE =2 R B

5.heFt I R eR 22 aNREBHA/ N RAFLERBEHERE,
RIRBEER S P LS EERYEN SRR =585,

—_— |~

™

120/115 142/160

= Model
iz <8 >8 <14 <19 | <24 “ <35
TA(Nm) 2 4.5 4.5 9.5 16.5 40
SW(Nm) 2.5 3 3 o 5 6




	AE.jpg
	X_页面_56_01.jpg
	X_页面_56_02.jpg
	X_页面_57_01.jpg
	X_页面_57_02.jpg
	X_页面_58_01.jpg
	X_页面_58_02.jpg
	X_页面_59_01.jpg
	X_页面_59_02.jpg
	X_页面_60_01.jpg
	X_页面_60_02.jpg
	X_页面_61_01.jpg
	X_页面_61_02.jpg
	X_页面_64_01.jpg

